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mass spectrum

[CHM309] One of these is not the application of mass spectrometry
mass spectrometry is useful as a detector in nuclear magnetic resonance spectroscopy

[CHM309] One of these is not the application of mass spectrometry
relative molecular mass and structural determination

[CHM309] $$ (CH_{3})_{3} SiOH $3$ is a neutral fragment lost from one of these
molecules
Trimethylsilyl

[CHM309] which of these appropriately describes the base peak?
the most abundant ion in a mass spectrum that is arbitrarily given abundance of 100%

[CHM309] Methane sequentially undergoes threestages of chemical ionisation. Which
of these reactions is not correct?
$$ C_{2}H_{6} ACaA€ 4E™------ [C_{H_{2}-CH_{2}-CH_{2}-] {n}$$

[CHM309] One of these is not an ionisation techniques used in mass spectrometer
electroassay ionisation

[CHM309] One of these is not a neutral molecule

$$CO_{2}$%

[CHM309] In chemical ionisation, in mass spectrometry, ions are produced by collisions
between sample molecules and ___ generated by reagent gas

ions

[CHM309] Which of these is not a main component of mass spectrophotometer
Sample outlet system
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